B(T —-bW) =1

m, [GeV] mr [GeV] Efficiency SR1b tag [%] Efficiency SR 2 b tag [%]
1500 700 1.24+0.2 1.94+0.3
1500 900 0.74 +0.17 1.14+0.2
1500 1200 0.23 +0.09 0.21 +0.09
2000 900 26+03 36+04
2000 1200 21+0.3 3.0+£04
2000 1500 0.89 +£0.18 0.87 £0.18
2500 1200 33+04 39+04
2500 1500 28403 3.6+04
B(T—tH)=1

m, [GeV] mt [GeV] Efficiency SR1b tag [%] Efficiency SR 2 b tag [%]

1500 700 0.55+0.15 0.75+0.17
1500 900 0.65+0.16 0.93+0.19
1500 1200 0.26 £0.10 0.37 £0.12
2000 900 1.8+0.3 2.6 +0.3
2000 1200 20+0.3 29+0.3
2000 1500 1.74+0.3 22+0.3
2500 1200 29+0.3 39+04
2500 1500 3.0+0.3 41+04
B(T—tZ)=1
m, [GeV] mt [GeV] Efficiency SR1b tag [%] Efficiency SR 2 b tag [%]
1500 700 0.62+£0.15 0.84 +£0.18
1500 900 0.78 +£0.17 0.98 +0.19
1500 1200 0.50+£0.14 0.544+0.14
2000 900 24+0.3 31+04
2000 1200 2.8+0.3 39+04
2000 1500 23403 2.8+0.3
2500 1200 43+04 54+0.5
2500 1500 45+04 6.0+ 0.5



